Inequalities – the coffe shop
name:  






Situation:

Cate and Jason Burke have a small coffee shop.  They serve only two types of donut with their coffee, plain and old fashion.  They need to decide how many dozen of each type to make to maximize their profit.  
· One dozen plain donuts requires a pound of dough, while a dozen old fashion donuts only requires 0.8 pounds of dough.  They only have 140 pounds of dough.

Write an inequality for the number of dozen donuts of each type they can make based on the amount of dough available.
· There is only enough space to make 128 dozen total donuts a day.
Write an inequality for the number of dozen donuts of each type they can make based on the amount of space available.

On graph paper, graph the two inequalities. Let the horizontal axis represent the number of dozen plain donuts and the vertical axis represent the number of dozen old fashion donuts.

The Burkes know that no matter how many of each they make they will be able to sell all of them.  

It costs $6.50 to make a dozen plain donuts which they can sell for $10.00 a dozen.  The old fashion donuts cost $8.00 to make and sell for $12.00.
Given that profit = cost – revenue, write an equation for the profit.

How many dozen of each should the Burkes make if they wish to make the maximum profit?

